18"=3" 18 —-3"

22°=2" 22'=2" 22'-2"

22°=2" 22'-2"

H

e

Juz

puEzsicss:

(36) SPACES @ 7° —-5" = 267’

267'=0" LIMITS ITEM 525.34

B.I.N. 57/

TYPICAL RAILING ELEVATION

LOOKING AT FACE OF RAIL FROM CENTERLINE OF ROAD

Vermont Agency of Transportation

RECEIVED

ON: March 25, 2015
and Checked for

CONFORMANCE

BY: TY Lin DATE: 03/30/15

T.Y. LIN INTERNATIONAL

THE STAMPED DOCUMENTS ARE HEREBY:

APPROVED
X __ APPROVED AS NOTED

REVISE AND RESUBMIT
SEE TRANSMITTAL FOR ADDITIONAL INFORMATION AS APPLICABLE.

THIS REVIEW IS FOR GENERAL CONFORMANCE WITH DESIGN
CONCEPT ONLY. ANY DEVIATION FROM THE PLANS OR
SPECIFICATIONS NOT CLEARLY NOTED BY THE CONTRACTOR HAS
NOT BEEN REVIEWED. REVIEW BY THE ENGINEER SHALL NOT RELIEVE
THE CONTRACTOR OF THE CONTRACTUAL RESPONSIBILITY FOR ANY
ERRORS OR DEVIATION FROM THE CONTRACT REQUIREMENTS.

RICK HEBERT 3/30/2015
REVIEWER DATE

HIGHWAY SAFETY CORP

GLASTONBURY, CT
860-633-9445

ITEM 525.34 4-BAR BRIDGE RAIL

BRIDGE IMPROVEMENT ECERTIFIED
BENMONT AVE. (TH-7) (URBAN MINOR ARTERIAL) | /<CFABRICATOR|

B.LN. 57 P.LN. BRF 1000 (16)

TOWN OF BENNINGTON, BENNINGTON COUNTY HSC JoB NO.

PARTIAL PLAN VIEW REVISIONS GENERAL CONTRACTOR 202 6
NORTH END APPROACH No. Remarks Date | [shEer wo. |
T LAFAYETTE 1 of 6
RevA |Notation Corrections F1 AN
0 [Inifial _submiftal ;'/2/15 KT [ gl [P 2-17-15 [ N [ p
/



rhebert
Snapshot

dbonneau
CheckForConformanceFields


2

‘®

22'=-2"

22'-2" 22'-2" 22'-2" 22'-2" 112"

juczzzc=z:

ju:
by
bu;

il
m
i

(36) SPACES @ 7° —5"

Il

267’

267°—0" LIMITS ITEM 525.34

=N

B.I.N. 57/

TYPICAL RAILING ELEVATION

LOOKING AT FACE OF RAIL FROM CENTERLINE OF ROAD

T.Y. LIN INTERNATIONAL

THE STAMPED DOCUMENTS ARE HEREBY:

APPROVED
X  APPROVED AS NOTED

REVISE AND RESUBMIT
SEE TRANSMITTAL FOR ADDITIONAL INFORMATION AS APPLICABLE.

THIS REVIEW IS FOR GENERAL CONFORMANCE WITH DESIGN
CONCEPT ONLY. ANY DEVIATION FROM THE PLANS OR
SPECIFICATIONS NOT CLEARLY NOTED BY THE CONTRACTOR HAS
NOT BEEN REVIEWED. REVIEW BY THE ENGINEER SHALL NOT RELIEVE
THE CONTRACTOR OF THE CONTRACTUAL RESPONSIBILITY FOR ANY
ERRORS OR DEVIATION FROM THE CONTRACT REQUIREMENTS.

RICK HEBERT 3/30/2015
REVIEWER DATE

Vermont Agency of Transportation

RECEIVED

ON: March 25, 2015
and Checked for

CONFORMANCE

BY: TY Lin DATE: 03/30/15

HIGHWAY SAFETY CORP

GLASTONBURY, CT
860—633—-9445

ITEM 525.34 4-BAR BRIDGE RAIL

BRIDGE IMPROVEMENT >§CERTIFIED
BENMONT AVE. OVER ROARING BRANCH RIVER < FABRICATOR|

B.I.N. 57 P.LN. BRF 1000 (16)

TOWN OF BENNINGTON, BENNINGTON COUNTY HSC 408 No.

GENERAL CONTRACTOR 2 02 6

SHEET NO.

SUB  CONTRACTOR

LAFAYETTE 2 of 6

DRAWN MKT CHECKED DA 5 17-15 |SE  NONE 1 sz



rhebert
Snapshot

dbonneau
CheckForConformanceFields


RAIL SLOPE SET

‘ STEEL AT BOLT LINE
PAY LIMITS, GUARDRAIL APPROACH SECTION, END CAPS (GALVANIZED) 3/8" STEEL CONNECTION ¢F’OST g !
GALVANIZED 4 RAIL BOX BEAM AT NE QUADRANT SEE STANDARD S—363 PLATE (GALV. W6 x 8.5
NE ‘:)Uslk{)ahONLY S e [ %’ITOZ;T::JTCAP s e [ 08 2
° ° : BLOCK (TYP.)
T T T T T T T T b 5 /@R res o veosye | boa sy
Bemmns it ] 14 L\ | 4 ) _—1—TACK WELD OUTLINE OF
4" | 4"
\\ TRANSITION CURB Y4 = 2 ~/ TERMINAL CONNECTOR
. BEYOND END OF m = %
Spllce Bar APPROACH SLAB END CAPS (GALVANIZED) <TANDARD %"¢ PIPE SPACER T
FIXED WITH SET SCREW WASHER T SCH. 40 " LONG (GALY) = ] -
(1.050" 0.D. .824 LD.) A A o ¢ 5 | END OF
N ! CONNECTION PLATE
PLAN VIEW — APPROACH RAIL SPLICE BOLT o o o
SECTION -« 4o 0
; oio o o o-]H
Splice Bar (Typ) | ° .
o o N
26'-9" THRIE-BEAM TO STANDARD STEEL BEAM GUARDRAIL _. L\
. STEEL BEAM TRANSITION GALVANIZED
19'-4 5/8" (LIMITS OF GUARDRAIL APPROACH IN NE QUADRANT) SECTION
/ 6 SPACES @ 3' —2" 4'-8" 31" 3-11/2" 3-11/2" 6 —3" (TYP.) CONNEGTION
1'=7" SEE RAIL RALL SLOPE TOP RAIL 118" PLATE
POST DETAIL OFFSET AT 2ND RAIL 73" ozt N
; T i POST #5 | %0 AL F 1/2" (1) _ 3/4" DA BH. | 5/8" DIA BUTTON HEAD
T ——
' /7 SR O E—— o) 3/4" CARRIAGE CAR(R(‘;;E\E/ )BO‘-TS POST BOLT (TYP.)
t I —— ag 1" (Typ, . HER
| NI T_K‘—:__\K:&» - — T0P RAL BOLTS (TYP.) WITH PLATE WASHE
of | H A 1% B R — e = ——t | 7% ==
o k e N L S i . . ° A of = o
Al | A N 1 £ o ° o o o =] . © ©
P olel T 1] T ele -1 o1 = e ——— ° o C - DETAIL A
N e — 1 s > s : D o w1 7 ) = VormontAgency of Transportation
| . X i RECEIVED
S | X - .
A = 3 (vP) - March 25, 2015

TOP OF and Checked for

END OF
POST #1 POST #2 POST #3 POST #4 POST #5 POST #6 POST #7 DETAIL "A" CURB
DECK e —
CONFORMANCE
TOP OF ROADWAY BY: TY Lin DATE: 03/30/15
SURFACE %" CONNECTION
PLATE
]
ELEVATION VIEW — NE & SE APPROACH RAIL @‘*’
- L RAIL_SLOPE SET
Q STEEL | AT BOLT LINE
POST "
. SECTION C=C ot s e
) _
Splice Bar (Typ) | CONNECTION PLATE :
1'-0 3/4" 1'-2 5/16
26'-9" THRIE-BEAM TO STANDARD STEEL BEAM GUARDRAIL .
STEEL BEAM TRANSITION GALVANIZED 4" 4 OUTLINE OF
SECTION TERMINAL CONNECTOR
6 SPACES @ 3' —2" 4-8" 31" 3-1.1/2" 3-11/2" 6 =3 () A
17 SEE RAIL TOP RAIL 8"
POST DETAIL rEser o d 2ND RAL 3¢ 1/2" (tye) _ ofo » ! END OF
X PoST #7 | 3RD RAL 15 2-3 | CONNECTION PLATE
{ £ O Y T - _ 4TH RAIL 0 1" (Typ) ° A
: iﬁ + 4 C - S
° T T e © 3 T —— o Y = s o L
. | of | | ! . R R ° . ° o o o oo = —— [N
o ' V/ d o o e = 1 T L
I t ofel L JIL.. oo olo olo olo oo ofo :\Dup = /__ s ",’ g °i°
i 1 T Tols 0 . -Te oTs 5o a0 H b 6.000 0.375 S
' _%I@—___—__*_ :L olo [ CONNECTION. 5/8" DIA BUTTON HEAD
N Tﬁ = f PLATE POST BOLT (TYP.)
R . 1 0.125 SLOT—=1— L& L WITH PLATE WASHER
DETAIL "B 1750 o~ ——

: 3/4" DIA B.H.
POST #1 POST #2 POST #3 POST #4 POST #5 POST #6 POST #7 T.Y. LIN INTERNATIONAL MIN. THREAD TQRTAGEAWS_ L
THE STAMPED DOCUMENTS ARE HEREBY: 3/4” DIA. A449 (GALV.)
:REVIS%ANSO ROUND HEAD BOLT
- D RESUBMIT
ELEVATION VIEW — NW & SW APPROACH RAIL (WITH WASHER AND PREVAILING TORQUE TYPE LOCK NUT) DETAIL B

SEE TRANSMITTAL FOR ADDITIONAL INFORMATION AS APPLICABLE.

(SEE NOTE #8)
THIS REVIEW IS FOR GENERAL CONFORMANCE WITH DESIGN ONLY FULL DIAMETER BODY BOI_TS WlLL BE ALLOWED.

CONCEPT ONLY. ANY DEVIATION FROM THE PLANS OR
SPECIFICATIONS NOT CLEARLY NOTED BY THE CONTRACTOR HAS

NOT BEEN REVIEWED. REVIEW BY THE ENGINEER SHALL NOT RELIEVE
I CONTRACT O THE CONTAACTUAL RESPONSIALITY FOR ANY HIGHWAY SAFETY CORP
NOTES: RICK HEBERT 3/30/2015 GLASTONBURY, CT
—_— REVIEWER DATE 860—633—-9445
1. PAYMENT FOR GUARDRAIL APPROACH SECTION, GALVANIZED 4 RAIL BOX 3. APPROACH RAIL BOLTS SHALL BE ASTM A307 GRADE A AND NUTS SHALL LEGEND: ITEM 525.34 4—BAR BRIDGE RAIL —
BEAM SHALL INCLUDE THE TERMINAL CONNECTOR, THE CONNECTION PLATE, BE AASHTO M291 (ASTM A563 GRADE A OR BETTER) (GALVANIZED). WASHERS LELEND. BRIDGE IMPROVEMENT FCERT'F'ED
RAIL, POSTS, BLOCKS AND ATTACHMENT HARDWARE. SHALL BE ASTM F844 BENMONT AVE. OVER ROARING BRANCH RIVER < FABRICATOR|
B.LN. 57 P.LN. BRF 1000 (16)
2. ALL BRIDGE APPROACH RAIL MATERIALS, DIMENSIONS, SIZES, AND NOTES 4. FABRICATE SPLICE BARS TO MATCH BEND ANGLES USING A COMPLETE NW NORTH WEST TOWN OF BENNINGTON, BENNINGTON COUNTY  fusc sos no.
SHALL BE THE SHAME AS THOSE OF THE BRIDGE RAIL UNLESS OTHERWISE PENETRATION (B—U2) WELDED SPLICE AT CENTERLINE OF RAIL EXPANSION NE NORTH EAST GENERAL CONTRACTOR 2026
NOTED. JOINT. NORTH APPROACH SPLICES ALSO BEND IN PLAN; REFER TO DETAIL SW SOUTH WEST | [SHEET RO,
SHEET FOR BEND ANGLES. SE SOUTH EAST U8 CONTRACTOR LAFAYETTE 3 of 6
DRAWN MKT |cuzcx:o DA 5 _17-15 |SAE  NONE Istzz D



rhebert
Snapshot

rhebert
Callout
Splice Bar

rhebert
Callout
Splice Bar (Typ)

rhebert
Callout
Splice Bar (Typ)

dbonneau
CheckForConformanceFields


¢ RAIL TUBE SPLICE OR 1'=7"+/~

RAIL EXPANSION JOINT

HSS4x4x% TOP RAIL

HSS8x4x¥s 2ND RAIL

HSS4x4x% 3RD RAIL

HSS4x4x% BOTTOM RAIL

T

Ll

Vermont Agency of Transportation

RECEIVED

CONSTRUCTION JOINT

1'—6" MIN

T.Y. LIN INTERNATIONAL

THE STAMPED DOCUMENTS ARE HEREBY:

ON:
March 25, 2015 BRIDGE RAILING ELEVATION L
and Checked for ______ REVISE AND RESUBMIT
SEE TRANSMITTAL FOR ADDITIONAL INFORMATION AS APPLICABLE.
C O N F O RMAN C E THIS REVIEW IS FOR GENERAL CONFORMANCE WITH DESIGN
;ONCEPT ONLV‘ ANY DEVIATION FROM THE PLANS OR N
BY: TvyLin DATE: 03/30/15 NOT BEEN REVIEWED REVIEW BY THE ENGINEER SHALL NOT RELIEVE
' THE CONTRACTOR OF THE CONTRACTUAL RESPONSIBILITY FOR ANY
ERRORS OR DEVIATION FROM THE CONTRACT REQUIREMENTS.
;’\“—’ ;‘\f 2 fo N RICK HEBERT 3/30/2015
2 = e £ . "o . . REVIEWER oRTE
T e e IS o . [~ [ o, o :
i = = < < N © .
N cio J oo I 1 OE ~ m\‘ﬁ :E: ‘o ‘,‘E
N3 © o . oo . I sk I il B EN =
> X S X i s 6 . ol o ot B -
I © S ~ S x R Y = [ A ofo
o — PN B =
— <] i o s ° — © & 1) © a‘g R
B R - © o = ° ‘o
\"‘3 ° "o o e ° =z 2 o ‘®
N NS ~ n\w o © z ~
- R = R S B S S e ° o o
! B ! © [ © [ : S = : x .
— o)) - = - B - > | B ll © » fo
- o - © - S - e - = h <
o#o olfo ~ by
[e] [e] o (o) o o o o
© © :.“_’ e s : e 3 2 o 2 o : = H
& IS 5@ & B 305 IS 3 ) %
o (o) (o) o [e] o o o o [e] o o
N = N ~—~ 2 = 2 ~—~ S ~— 2 ~—
POST #W1 POST #W2  POST #W3 POST #W4 POST #W6 POST #w7
WEST APPROACH POST HOLE DETAIL
i 1 x e 2 =
oio s ) N = fo =
R R ojo . s S = = | .
3 © R ofo i A I X > = =
> = NS e . oo i el >~ > N
| [°¢) o > o = =~ -~ "o ‘e
o o | ™~ S 2 = I - o N
° - o - N “ B e s el it s B
X ° o o R ” ° - 2 5 %‘—D 3 3 °he
— N X o ° 2 ° N o N
| © [« 2 < 2 o R [} g ©
— < | © 2 = NS R ol R o NS
> — INY — > - * ol X - o o s ©
© \ ~ - ~ (=) ) 3 N "o
°ye °ofo olo = - ) ¥ X o
N N oijo (o) £e] fred
5 o Y 2 i @ o . : = : crers ol ol ¥
% 2 5 SN N 53 5 F %
~ <+
o] [} [¢] o o] o o] o] (o] [e] [e] [e]
I I S I S — S
POST #E1 POST #E2 POST #E3 POST #E4 POST #E6 POST #E7
EAST APPROACH POST HOLE DETAIL

¢ PosT (W6x25)

1% . %" 4|" 6 -
d A %" =X ]
B =
)
(O RO)
¢ 1% x 1% -
VARIES* SLOTTED HOLES . s
: § Wex25 |
=+ d —~ RAIL POST I
’ : % R
VARIES* = | DELINEATION
2 el DEVICE
Ol G =]
VARIES* - .
p} H0) 1" BASE >
PLATE
—
—J
*SEE POST ~— { HL
HOLE DETAIL
: %D 0 ~
XoF \
65" & =
#5 BARS L
RAIL POST
(NOT TO SCALE)
I %" 10"
TYPICAL SECTION
3/16" . 3/16" .
e ¥ 7 S
M _ M ~ A\(
TOP VIEW TOP VIEW ~
(NORTH END) (NORTH END) g
TOP VIEW TOP VIEW
(SOUTH END) (SOUTH END)
1/16” & 1/16"
] > —
TOP ! TOP — B
RAL el ] SYNTI S— A ]
AL 18"
2ND P 2ND )
RAIL | © RAIL b
- I ——— ~
) ~
O” ”
e 0
3RD ] 3RD
RAL e . RAL ] ;
= ~
~ —
BOTTOM  prrrreeeer—y 510 0] Y
RAIL b RAIL e

WEST APPROACH

SPLICE TUBES

EAST APPROACH

SPLICE TUBES

HSS8x4x%s (TOP)
HSS4x4x% (BOTTOM)

¢
RAIL POST
13"
5 e
| |
e LI
%’ | |
=
: | ° (_
SR ' -
¥ =
| | )
] —
¥ % . o\ B
] C—
=§ zQI : _ 1
h [ 1

PARTIAL RAIL ELEVATION

\_'}s" DIA HOLE FOR

ATTACHMENT OF
REFLECTOR UNITS

@ RAIL

POST

1'_o”

57 )
™.

/ —1%"® HOLE (typ.)

//rW6x25

A ™
. ®| Swmp—
~ 7/16
3
3] | %8 113
1 16

POST BASE PLATE

17 x 10" x 14" BASE PLATE

NOTE:

BEARING PAD TO HAVE SAME
SHAPE AND DIMENSIONS AS

BASE PLATE.

HIGHWAY SAFETY

GLASTONBURY, CT
860—633-9445

CORP

ITEM 525.34 4—BAR BRIDGE RAIL

BRIDGE IMPROVEMENT )gCERTIFIED
BENMONT AVE. OVER ROARING BRANCH RIVER < FABRICATOR|
B.LN. 57 P.IN. BRF 1000 (16)
TOWN OF BENNINGTON, BENNINGTON COUNTY  fiar o
GENERAL CONTRACTOR 02 6
l: SHEET NO.
SUB CONTRACTOR LAFAYETTE 4 o f 6
MKT |CHECKED P 5 17-15 |SAE  NONE |s:zz D



rhebert
Snapshot

dbonneau
CheckForConformanceFields


BILL OF MATERIAL

EAST

RAIL

APPROACH

QUANTITY = 2

WEST

RAIL

APPROACH

QUANTITY = 2

NE SE mk Description Spec. N SwW mk Description Spec.
1 1 E1 |END POSTW6x25 8-8" OAH (GALV) A572 gr 50 1 1 W1 |ENDPOST W6x25 §-8" OAH (GALV) AB72 gr 50
1 1 E2 |END POSTW6x25 8-8" OAH (GALV) A572 gr 50 1 1 W2 |END POST Wex25_ 88" OAH (GALY) A5T2 ar 50
1 1 E3 |END POSTW6x25 8-8" OAH (GALV) AS72 gr 50 1 1 W3 |ENDPOST WEx25 8-8" OAH (GALV) ABT2 gr 50
1 1 E4 |END POSTW6x25 88" OAH (GALV) A572 gr 50 1 1 WA |END POST W6x25_5-8" OAH (GALV) AET2 0150
1 1 E5 |END POSTW6x25 8-8" OAH (GALV) A572 gr 50 " 1 W5 |END POST W6x25 -5 OAH (GALV) ABT2 gr50
1 1 E6 |END POSTW6x25 8-8" OAH (GALV) A572 gr 50 .
1 1 E7 |END POSTW6x25 8-8" OAH (GALV) AS72 gr 50 } 1 % Ezg §g§ ﬁg g_gn xﬂ [git‘? ﬁgé g: gg
0 1 SPLICE TUBE FOR 4x4 RAIL (GALV) angled TS 3x3x5/16 1-11.750" LG w/ 2 WELDED NUTS A500 or B 0 . - (CALY) — — 500 g 5
0 1 SPLICE TUBE FOR x4 RAIL (GALV) angled TS 7x3x3/8_1-11.750" LG w/ 2 WELDED NUTS AS00 gr B . SPLICE TUBE FOR 4t RAL (GALV) angled TS 3:0x516 1-11.750° LG w' 2 WELDED NUTS 2500 £ B
0 1 SPLICE TUBE FOR 4x4 RAIL (GALV) angled TS 3x3x5/16 1-11.750" LG w/ 2 WELDED NUTS A500 g B g SPLICE TUBE FOR Bt RAIL (GALV) angied TS 0«38 _T-11.7507LG w 2 WELDED NUTS T
0 1 SPLICE TUBE FOR 4x4 RAIL (GALV) angled TS 3x3x5/16 1-11.750" LG w/ 2 WELDED NUTS A500 gr B 0 1 SPLCE TUBE FOR 44 RAIL [GALV) anded TS 3x3x5/16 1“11'750" LG w' 2 WELDED HUTS A0 g
1 0 SPLICE TUBE FOR TOP 4x4 RAIL (GALV) double angled TS 3x3x5/16 1-11.750" LG w/ 2 WELDED NUTS A500 gr B 0 1 SPLCE TUBE FOR 4x4 RAIL {GALY} angled TS 3x3x5/16 1-11.750" LG w/ 2 WELDED NUTS AS00 g B
1 0 SPLICE TUBE FOR 8x4 RAIL (GALV) double angled TS 7x3x3/8 1-11.750" LG w/ 2 WELDED NUTS AB00 gr B 1 g SPLICE TUBE FOR TOP 4x4 RAIL (GALV) double angled TS 3x3x6/16 1-11.750" LG w/ 2 WELDED NUTS AS00 g B
1 0 SPLICE TUBE FOR 3RD 4x4 RAIL (GALV) double angled TS 3x3x5/16 1-11.750" LG w/ 2 WELDED NUTS A500 gr B 1 ) SPUCE TUBE FOR 8¢t RAIL {GALV) double angled TS 7x3x3/8  1-11.750" LG w 2 WELDED NUTS A5S00 g B
1 0 SPLICE TUBE FOR BOTTOM 4x4 RAIL (GALV) angled TS 3x3x5/16 1-11.750" LG w/ 2 WELDED NUTS A500 gr B 1 0 SPLCE TUBE FOR 3RD 4 RAIL {GALY) double angled TS 3x3x5/16 1-11.750" LG w/ 2 WELDED NUTS AR00 gr B .
1 0 SPLICE TUBE FOR BOTTOM 4x4 RAIL {GALV} angled TS 3x3x516 1-11.750" LG w/ 2 WELDED NUTS AS00 g B Vermont Agency of Transportation
1 1 UPPER RAIL APPROACH TUBE HSS 4 x 4 x 1/25 X 242" wi 3.500 SLOTS FOR 4" EXP GAP (GALV) A500 g B RE C E IVE D
1 1 UPPER MIDDLE RAIL APPROAGH TUBE HSS 8x 4 x 5/16 x 24-2.000° (GALV) A500 gr B 1 1 UPPER RAIL APPROACH TUBE HSS 4 x 4 x 1/25 x_9-4.000" w/ 3.500 SLOTS FOR 4" EXP GAP (GALV) AS00 g B
1 1 LOWER MIDDLE RAIL APPROACH 4x 4x 125x 242" ((5a]V) A500 gr B 1 1 UPPER MIDOLE RAIL APPROACH TUBE HSS 8 x4 x 5/16 x 9-4.000" (GALV} A500 g B ON: March 25 2015
1 1 LOWER RAIL APPROACH TUBE HSS 4 x 4 x 5/16 x 22'-2.000" w/ 3.500 SLOTS FOR 4" EXP GAP (GALV) A500 gr B 1 1 LOWER MIDDLE RAIL APPROACH 4 x4 x 125 ((GalV) AS00 g B and Checke’d for
1 1 LOWER RAIL APPROACH TUBE HSS 4 x 4 x 5/16 x 22-2.000"w/ 3.500 SLOTS FOR 4" EXP GAP {GALW} ASD0 g B
T BACKPLATE A% CONFORMANCE
1 1 END CAP 3/16"x4"x8" W/ 4x 1"x1°x.125" TABS (GALV) A36 ] 1 BACK PLATE 736 _ ) ]
3 3 END CAP 3/16"x4"x4™ w/ 4x 1"x1"x.125" TABS (GALV) A36 1 1 END CAP 316508 wl & 1'xT'x 125" TABS (GALV) 236 BY: TvLin  DATE: 03/30/15
1 1 THRIE POST W6x8 5% x 70" (GALV) A572, Gr 50 3 3 END CAP 316 xd'xd" wl &x 1x1"x 126" TAES (GALV]) %6
: 1 EQSETSDNP?SSTT Vms);a;# x;—';l’" éiALl;IV) 2:;; 2; gg T T THRIE POST W6 5 x 7-0° (GALY) A572. G 60 T.Y. LIN INTERNATIONAL
1 1 /00D BLOGK 57 X8 X 215" OFF(SET R)OUTED WOooD 1 ! RANSTTION POST WEx8 5% x 7-0 [GALV) AB72, Gr 50 THE STAMPED DOCUMENTS ARE HEREBY:
1 1 WOOD BLOCK THREE 6" X&' X 18" ROUTED FOR TRANSITION POST WOOD ! ; STANDARD pOST, v'vsfs.s# X,,T 0" (CALY) AS&SBSU APPROVED
1 1 WOOD BLOCK 6" X8” X 14" ROUTED WOOD 1 WOOD BLOCK 6" X 8" X 21.5" OFFSET ROUTED ~X_ APPROVED AS NOTED
"y A REVISE AND RESUBMIT
1 1 TERMINAL CONNECTOR 10 Ga, (with slotted holes) M180 B2 1 1 xgg Stgg(-( T;I?(IEB" i’ﬁf;’é 18" ROUTED FOR TRANSITION POST V'“""V'ggg -
1 1 THRIE TRANSITION PANEL 10 Ga. M180 B2 UTED
- = 3@ SLOTTED HEAD BOLT (GALV) 075" DA X6.00" LG NG SHIDR YO 1 1 TERMINAL CONNECTOR 10 Ga (with slotted hOlES} W10 B2 SEE TRANSMITTAL FOR ADDITIONAL INFORMATION AS APPLICABLE.
20 | 20 5/8" GUARDRAIL SPLICE BOLT (GALV.) 0.625" DIA. X 1.750" LG. W/ NUT A307 11 311 THRIE TRANSITION PAMNEL 10 Ga. MEZEBQ THIS REVIEW 1S FOR GENERAL CONFORMANCE WITH DESIGN
16 16 3/4" SPACER PIPE 0.750" DIA. (SCH 40) X 0.5" LG. A53 gr B 3 34" SLOTTED HEAD BOLT (GALV.)0.75" DIA X 6.00"LG. NO SHLDR :
64 64 3/4" HEAVY HEX NUT (GALV.) 0.750" DIA. A563 DH 20 20 5/8” GUARDRAIL SPLICE BOLT (GALV.}0.625" DIA. X 1.750" LG. W NUT A307 NOT BEER REVIEWED. REVIEW BY THE ENGINEER SHALL NOT RELIEVE
20 20 5/8" DBL. RECESSED NUT (GALV.) 0.625" DIA. A563 DH 16 16 34" SPACER PIPE 0.750" DIA. (SCH40 X 0.5" LG A53grB THE CONTRACTOR OF THE CONTRACTUAL RESPONSIBILITY FOR ANY
1 1 3/4" ROUND HEAD BOLT (GALV ) 0.750" DIA. X2.000" LG. A307 64 64 344" HEAVY HEX NUT (GALV.) 0.750" DI, A563 DH ERRORS OR DEVIATION FROM THE CONTRACT REQUIREMENTS.
6 6 POST BOLT 0.625" x 11" x 9.5" HDG (5/8) A307 20 20 5/8" DBL. RECESSED MUT {GALV.}0.625" DIA. A563 DH
3 3 3/4” ROUND HEAD BOLT (GALV.) 0.760" DIA X 2000°LG. A307 RICK HEBERT 313012015
6 6 POSTBOLT0.625" x 11" x 8.5" HDG {5/8} A307
4 RAIL 1/2" DIA. x 1/2" SOCKET SET SCREW,
TOTAL PAY LENGTH ITEM 525.34 = 534 LF HEX SOCKET DRIVE, NO HEAD, CUP
POINT, GALVANIZED
w E mk Description Spec. 4"
37 37 PEDPOSTWEx 25 x 36"0CAH WITH 1"x10"x14" BASE PLAIE (GLV} AS72 g 50 3% 1/8" x 1" x 1" TAB
38 36 SPLCE TUBE FOR 4x4 RAIL (GALV) TS 2x3x5/16 00" LG w/ 2 WELDED NUTS ASB0gr B \:
12 12 SPUCE TUBE FOR 84 RAIL {GALV} TS 7x3x3/8 00" LG w/ 2 WELDEDNUTS A500grB
. (typ)
&) 5 B1 |TUBULAR STEEL RAIL{GLV}HSS 4x4x 1/4 x 18 3" DAL A50GgrB ol 1/8 /E
X
30 | 30 | B2 |TUBULAR STEEL RAIL(GLV)HSS4x4x 1/4 x 222" OAL A500 gr B GALY. HANG HOLE
3 3 B3 |TUBULAR STEEL RAIL (GLV}HSS4x4x 174 x 112" 0AL A500grB IN ONE TAB ONLY
1/2" DIA. x 1/2" SOCKET SET SCREW, g e t
2 2 B1 |TUBULAR STEEL RAIL{GLV}HSS 8x4x 5/18 x 18-3' OAL ARG gr B HEX SOCKET DRIVE, NO HEAD, CUP N
10 10 | B2 |TUBULAR STEEL RAIL (GLV)HSS 8x 4 x 516 x 222" OAL AS00 gr B POINT, GALVANIZED I 3
1 1 B3 |TUBULAR STEEL RAIL{GLV}HSS 8x4x5/16 x 11-2' DAL AS00gr B . ROUND CORNERS END CAP (8x4) PLATE
. gy g /7 RS (TP) 316" x 8" x 4"
37 37 BR NEOPRENE PAD §.125x 10.00x 14.00 neoprene % /8 x 1 x A8
37 37 ANCHOR PLATE {GALV)} PL 375x 8375 x 13.000 w/ 6.250 DIA. CIR HOLE A3 () HIGHWAY SAFE TY C O RP
148 148 ANCHOR STUD 1" DIA. x 12" LG. (GALY) Ad4% o
. ” 3/16" GLASTONBURY, CT
fig 322 TngYng( ";U;;\ ﬁéAisALV} iig‘;’ g: L ) GALV. HANG HOLE Thick 860-633-9445
" PLATI
- (CALY) INONE TAB ONLY - ITEM 525.34 4—BAR BRIDGE RAIL ,
148 148 STANDARD WASHER 1" DIA. F436 1/16" o BRIDGE IMPROVEMENT >§ CERTIFIED
152 192 5/8" HEXHEAD BOLT {GALV.}0.625" DIA. X1.750" LG. AR5 BENMONT AVE. OVER ROARING BRANCH RIVER = FABRICATOR|
206 | 298 34" ROUND HEAD BOLT (GALV} 0.750" DIA. X6.000" LG. NO SHLDR W/ TY PE A WASHER A5 ROUND CORNERS o oE T %’}Wgﬁ’oﬂ BC)OUNTY
206 | 296 4" HEAVY HEXNUT (GALV.) 1" DIA A563 DH 1/2" RADIUS (TYP) END CAP__ (4x4) [ ’ “"5026
74 74 58" HEXHEAD BOLT {GALV.}8.625" DIA. X5.5" LG. w/ 2 NUTS & 1 STANDARD WASHER A325 316" x 47 x 4 SHEET o
/8 CONTRACTOR
o6 86 58" GUARDRAIL SPLICE BOLT (GALV.) 0.625" DIA. X1.750" LG. W/ NUT A30G7 B LAFAYETTE 5 of 6
DRAWN MKT I:'H:cxso E 5 17-15 |SAE  NONE |srzt D



rhebert
Snapshot

rhebert
Text Box
(Galv)

rhebert
Text Box
(Galv)

dbonneau
CheckForConformanceFields


=1 1%” EXP SPLICE TUBE

1 1w 3
5 5 %

8”

FIXED SPLICE JOINT

CoHCo)

H—a

1-1/8" x 3—1/2” SLOTTED HOLES
IN RAIL FOR 5/8 x 1-3/4" HEX BOLT
w/ PIPE SPACER

4" EXP_JOINT

EXPANSION SPLICE DETAIL

BOTTOM VIEW

\ 2'-5 5/18"

3%

RK
3/4" x 2-1/2" SLOTTED HOLES\ 8 1

A

Tt
f

1" x 2" DIAGONAL
SLOTTED HOLES
(12) LOCATIONS (typ)

N

(2) LOCATIONS AS SHOWN
1"¢ HOLES (9) —
LOCATIONS (typ) 4"

1/2"¢ DRAIN HOLE

1/2"% DRAIN HOLE

3 1/4”

Y

50
8

2 3/8"

10"

r':)|<o

M

7 5/8" |6 3/16"

T

R | RE | RA

5o
;]

g
7 5/8" 7 5/8"
|
®

Xg RB

6 3/16"

N,

8 1-0 3/4"

o

23/8"

2'-5 5/16"

TERMINAL CONNECTOR

10 GAUGE (AASHTO M180 B2)

1%s” DIA.
HOLE (TYP)

4 %"
(TYP)

6%"
9%"

5" DIA HOLE

10"

3% 9% X1 = 1"
PLATE

%"
(TYP)

ANCHOR PLATE

r/:)lco
™y

o
1'-8

3" CHAMFER

10"

\

3/4"9 HOLES

1% HOLE (9)
(2) LOCATIONS ONLY

LOCATIONS (typ)

CONNECTION PLATE

3/8" x 1'-8" x 2'-3"

HEAVY HEX NUT
AND WASHER (TYP)

PLATE

HEX JAMB NUT
(TYP)
_——ANCHOR PLATE

| — I —1

L\EQKHEAVY HEX NUT

(TYP)

19"

| o "TMPOST BASE
. ! )
|
1

¢ 1" DA
THREADED
STUDS

RAIL POST ANCHORAGE

O
O

1/2"

FIXED SPLICE JOINT DET

3/4"% HOLE
In Rail for 5/8"
Diam. x 1 3/4"

BOTTOM VIEW

HSS7x3x%” 2ND RAIL
SPLICE TUBE

HSS3x3x%s”

TOP, 3RD, OR BOTTOM||

SPLICE TUBE

/_
L

imi%/

1

IL Bolt (Typ)

SPLICE TUBE
/;UT (OUTER

HOLES ONLY)

TACK—-WELD
NUT

%" DIA x %" LONG

SCH. 40 STEEL PIPE SPACER*

%" DIA TAPPED HOLE IN SPLICE TUBE
%" x 35" SLOT* OR %"¢ HOLE**
IN RAIL TUBE FOR %" DIA
BOLT AND PLAIN HARDENED WASHER

A—A RAIL TUBE SPLICE AND

RAIL EXPANSION JOINT SECTION

*EXPANSION JOINT

+

*¥*SPLICE

%'¢ x 14" LG.
BUTTON HEAD
SPLICE BOLT (20) TYP.

%" x 14"
SLOTTED HOLES
(20) LOCATIONS (typ)

Vermont Agency of Transportation

RECEIVED

March 25, 2015
and Checked for

CONFORMANCE

DATE:

ON:

BY:

%" x %"
SLOTTED HOLES

TY Lin

(5) LOCATIONS (typ)

NOTES:
1. ALL WORK AND MATERIALS SHALL CONFORM TO SECTION 525.

2. PRIOR TO GALVANIZING, ALL EXPOSED CUT OR SHEARED EDGES SHALL BE
ROUNDED TO A 1/16" RADIUS AND BE FREE OF BURRS.

3. ALL POSTS SHALL BE SET NORMAL TO GRADE.

4. SECTIONS OF RAIL TUBE SHALL BE ATTACHED TO A MINIMUM OF TWO (2) RAIL
POSTS AND PREFERABLY TO AT LEAST FOUR (4) POSTS.

5. RAIL TUBE EXPANSION JOINT SHALL BE PROVIDED IN ANY RAIL BAY SPANNING THE
END OF AN INTEGRAL ABUTMENT BRIDGE AND AT ALL SUPERSTRUCTURE EXPANSION
JOINTS. EXPANSION JOINT WIDTH SHALL BE 4" AT 45°F AND WILL BE ADJUSTED IN
THE FIELD BY THE ENGINEER FOR OTHER TEMPERATURES.

6. HOLES IN RAILS FOR RAIL TUBE ATTACHMENT SHALL BE FIELD—DRILLED. HOLES
SHALL BE COATED WITH AND APPROVED ZINC—RICH PAINT DURING INSTALLATION.

7. RAIL POST ANCHORING NUTS SHALL BE TIGHTENED TO A SNUG FIT AND GIVEN AN
ADDITIONAL ONE—EIGHTH TURN.

8. RAIL TUBES SHALL BE ATTACHED USING 3/4" FULL DIAMETER BODY ASTM A449
ROUND HEAD BOLTS INSERTED THROUGH THE FACE OF THE TUBE. HOLES IN POSTS
SHALL BE 1/16" LARGER THAN THE BOLT SIZE.

9. ANY BENDING OR CURVING OF RAIL SHALL BE DONE IN A FABRICATION PLANT IN
ACCORDANCE WITH SUBMITTED PROCEDURES.

10. THE MINIMUM DISTANCE FROM A POST TO AN EXPANSION JOINT SHALL BE SUCH
TO MAINTAIN MINIMUM EDGE DISTANCE OF 5" FROM ANY ANCHOR STUD TO THE END
OF THE SLAB, OR TO THE EXPANSION JOINT RECESS POUR, IF ONE IS USED.

11. A DELINEATOR (SEE VAOT STANDARD DRAWING G—1 FOR DETAILS) SHALL BE
INSTALLED AT NEAREST POST TO 30 FT SPACING. WHITE IS TO BE INSTALLED ON THE
DRIVER'S RIGHT. FOR ONE WAY BRIDGES, YELLOW IS TO BE INSTALLED ON THE
DRIVER’S LEFT. PAYMENT SHALL BE INCIDENTAL TO OTHER ITEMS.

12. THIS RAILING MEETS THE REQURIEMENTS FOR A TL—4 SERVICE LEVEL.

MATERIALS

RAIL TUBES...iiiiiiiiie, ASTM A500 GRADE B OR ASTM A501
RAIL POSTS AND BASE PLATES.......ccooiiiiiiiiieesiiiiia ASTM A709/A709M, GRADE 50
ALL OTHER SHAPES AND PLATES............... ASTM A709/A709M, GARDE 36
ANCHOR STUDS ..ottt ASTM A449
ALL OTHER BOLTS (UNLESS NOTED)...ceiiertirieeeeieercaireneeennens AASHTO M164, TYPE1

NUTS FOR AASHTO M164 BOLTS AND FOR ANCHOR STUDS SHALL COMPLY WITH AASTHO
M291 (ASTM A563).

WASHERS SHALL COMPLY WITH AASHTO M293 (ASTM F436) SPECIFCATIONS.

1/87 PAD SHALL COMPLY WITH STANDARD SPECIFICATION SUBSECTION 731.01 OR
731.02.

RAIL POSTS AND BASE PLATES SHALL BE TESTED FOR IMPACT PROPERTIES IN
ACCORDANCE WITH ASTM A370 CHARPY IMPACT TESTING USING TYPE A SPECIMEN.

T.Y. LIN INTERNATIONAL

THE STAMPED DOCUMENTS ARE HEREBY:

APPROVED

X __ APPROVED AS NOTED

REVISE AND RESUBMIT

SEE TRANSMITTAL FOR ADDITIONAL INFORMATION AS APPLICABLE.
03/30/15
THIS REVIEW IS FOR GENERAL CONFORMANCE WITH DESIGN
CONCEPT ONLY. ANY DEVIATION FROM THE PLANS OR
SPECIFICATIONS NOT CLEARLY NOTED BY THE CONTRACTOR HAS
NOT BEEN REVIEWED. REVIEW BY THE ENGINEER SHALL NOT RELIEVE
THE CONTRACTOR OF THE CONTRACTUAL RESPONSIBILITY FOR ANY
ERRORS OR DEVIATION FROM THE CONTRACT REQUIREMENTS.

3/30/2015
DATE

RICK HEBERT
REVIEWER

i
o ofF—w’

-0}

0 g

HIGHWAY SAFETY CORP

GLASTONBURY, CT
860—-633—-9445

ITEM 525.34 4—BAR BRIDGE RAIL —
BRIDGE IMPROVEMENT gCERTIFIED

THRIE TRANSITION PANEL

10 GAUGE (AASHTO M180 B2)

BENMONT AVE. OVER ROARING BRANCH RIVER <t FABRICATOR|

B.N. 57 P.LN. BRF 1000 (16)

TOWN OF BENNINGTON, BENNINGTON COUNTY

GENERAL CONTRACTOR

HsC 10520.02 6

SHEET NO.

6 of 6

SUB CONTRACTOR

LAFAYETTE

DRAWN CHECKED SCALE

MKT M 5 _17-15 NONE "= p



rhebert
Snapshot

rhebert
Text Box
In Rail for 5/8" Diam. x 1 3/4" Bolt (Typ)

rhebert
Polygon

dbonneau
CheckForConformanceFields


